Hahs yg2 | 383c zs% Bysam | ONCATE
M2K oro|3 2 0fL 2|4 2000 K| 2 0.49
MESP 00|32 OJL| S&P500 A|% 2 0.49
MNQ OrO|3 2 O|L| LFAEH00 X|5= 2 0.49
MYM Oro|3 2 OJL| CH K| 2 049

ES O|L| S&P500 X|4= 7.5 1.95
FA OjL| s&P OJ=Z4 400 7.5 1.95
NQ gjL| LEAEM00 X[ 75 1.95
R2K gjL| 24 2000 x|z 7.5 1.95
YM gjL| cte X|%= 75 2.5
ES_O O|L| S&P500 &M 7.5 1.95
EW1_0 OjL| S&P500K|= 13 &M 7.5 1.95
EW2_0 OjL| S&P500X|= 2 M 75 1.95
EW3_0 OjL| S&P500X|s= 3F &M 7.5 1.95
EW4_O OJL| S&P500X|= 43 &M 7.5 1.95
B QN1 .0 | OJL| LEAEF 100 X 1F M 7.5 1.95
QN2_O | OjL| LAEF 100 X|&= 2F M 7.5 1.95
QN3_O | OjL| L}AEF 100 X|&= 3F M 7.5 1.95
QN4 O | OJL| LAEF 100 X4 4F M 7.5 1.95
NQ_ O oL LtAEH 100 K| M 7.5 1.95
IXA SEMEX| 5 7.5 1.95
IXC YA O B X[ = 7.5 1.95
IXD K2 M B K| 2= 7.5 1.95
IXI A AME K| 4= 7.5 1.95
IXP Of LA X| Ml Ef X| = 75 1.95
CME IXR E A H| T M E X = 75 1.95
IXS SSA|HME X[ 75 1.95
IXT 7| K| 5= 75 1.95
IXY B 7| AH| M E{X| = 75 1.95
XAR 2 S AMEX| 5= 75 1.95
XAS &S MM H|AME X = 75 1.95
ADM I EERCEITE 2 0.89
BPM Ol0|3 2 g2 Ot 2 0.89
ECM N EERE] 2 0.89
ECE oL |2 75 2.5
JYE gL 4= ol 75 2.5
AD =F 2y 75 2.5
BP g2 Ot 75 2.5
BR Botd oY 75 2.5
CcD FHLICH e 7.5 2.5
=3 EC 82 7.5 25
JY A= ol 75 2.5
KRW ot 7.5 2.5
MP CNERES 75 2.5
NE FAHE 2y 75 2.5
RU HAOF £= 7.5 2.5
SF AQIA mt 75 2.5
ADU_O FYY M 7.5 2.5
BPU_O F=oE M 75 2.5
ECU_O FE3 4 75 2.5
JYU_O UE A ZM 75 2.5




AL A AL A
Hahs yg2 | 383c zs% Bypam | OO TR | O T
MCL O3 2 eg 2 0.89 1
MNG 00|32 M7t 2 0.89 1
QG gL M7t~ 75 2.5 25
oL x| QM I3|';| e 7.5 2.5 2.5
CL AR 75 2.5 2.5
NG Iy e 7.5 2.5 2.5
CL.O e a4 7.5 2.5 2.5
NG_O M7t~ FM 7.5 2.5 2.5
EGC O0|2 22 (1022) 2 0.89 1
MHG S EEET 2 0.89 1
i GC = (10022 75 2.5 2.5
CME HG MI|s 7.5 25 2.5
Sl 2 (500022) 75 2.5 2.5
SR1 SOFR 17 & 7.5 2.5 2.5
SR3 SOFR 37HE & 7.5 2.5 2.5
2B T-CEHE 75 2.5 2.5
5B T-CEsHE 75 2.5 2.5
23 10B T-2E 1042 75 2.5 2.5
20B T-LE 20HE 75 2.5 2.5
30B T-2E 3042 75 2.5 2.5
0)'4% Ultra T-Note 109 & 7.5 2.5 2.5
uB O|=x2Ezat 304 7.5 25 2.5
10B_O T-SE 1042 M 7.5 2.5 2.5
HKE Xl MND MSCIQI = 7.5 25 2.5
Xl SFC FTSEZS=A50 7.5 25 2.5
SGX - XUW SGX O|L| ot= ¥ 7.5 25 2.5
U ol 2 75 2.5 2.5
CBOE O=ZFAZM - M E= 75 1 1
X O|HIE 42 Q=
[X|=] GSCI Q1= A (GI), L|91I0|225:E*E1(NX), FTSEE}O| 2tX| 4=(TWN)
[0S X R (HO), 7H& 2I(RB)
[E4] 00| 2 2E(SIL), LR 0|& (AL, Z2CIZ(PA), HF(PL), 33 M(GC_0), 2ZM(SI_0)
[s&4t=] A
K CIEISA
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